Physics 200 (Stapleton)
1-D Kinematics Notes, Part 1

Name:

Kinematics: The study of motion without considering its

causes.

Scalar: A quantity with magnitude but no direction.

Vector: A quantity with magnitude and direction.
Numerically, may be positive or negative, depending on the
chosen reference frame. Usually, signs follow the same
conventions as an x/y grid... upward = positive, downward
= negative, rightward = positive, leftward = negative.
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Kinematics
Formulas v=1vy+ al
to Come

1
T =xy+ vl + —2-at2

A = Delta = “change in”. If x changes from 3m to 1m, then '02 = vg + 2a (:c — :cg)
Ax =-2m.
Symbol Meaning (what it’s Vector | Common How to
supposed to mean) or Units estimate or
Scalar? convert
Position x (ory, Current distance (in a Meters (m) | 1 long step
depending on | positive or negative %
axis of motion) | direction) from some - 0.305m = 1foot
chosen point of origin.
Displacement | Ax (or Ay) Final position minus Meters (m) | 1 long step
(often called | Sometimes =d | original position(e.g. x- /
“distance.”) Xo); “Change in position” 0.305m = 1foot
Distance d How far something has Meters (m) | 1 long step
traveled from its original
position, disregarding 5 0.305m = 1foot
direction. Distance is not
negative.
Distance d Sum of all of the distances Meters (m) | 1 long step
traveled traveled on a trip.
Distance traveled is what g 0.305m = 1foot
is recorded by a car’s
odometer.
Time t ? 5 Seconds (s) | 1s=“one
mississippi”’
Speed v (even though | How fast something is Meters per | lm/s=
v is technically | moving. A ratio of S second 2.234mph =1
velocity) distance traveled to travel (m/s) long step per
time. second
Velocity v Speed and direction. Meters per | lm/s =
Speed that may be |/ second 2.234mph
positive or negative. (m/s) 4.5m/s =
6min/mile pace




Practice: At t=5s, an object leaves position X, and travels to position x .
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Displacement: X =X, =

Final Distance From Origin: \_;_"3/
Distance Traveled: / £t _
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Average Velocity (symbol = ): when we measure velocity, avérage velocity is what we will

actually measure. This is the average speed of an object as it travels through a given distance. The
object may speed up or slow down over that distance, but the average velocity that we calculate will not

show this.
Instantaneous Velocity: the velocity of an object at a single point in time
“Initial velocity” symbol = ./0

Final velocity symbol = V

If I have a velocity of 3 m/s, what does thgt mean? & '
I '}rn.\/@/ o L{'@ce’ 9"4 Serf ra 0’/&5/7/"&

%ra G?[o‘/\) @M _Se,co»‘/( ,
Explain how to walk with a velocity of 1m/s.

Take ome lony Step &Very seconst.

Average Velocity Formula (Hint: the provide the formula) &“- ‘/3 4 e
5 & 2 i

N AX L /(J/Z\Cémé—’ﬂ/
N ﬁ@dy&% A




Velocity Practice: The graph on the right shows the movement of an object in front of a motion sensor.
Determine the velocity of the moving object for letiered each segment, and use your calculations to fill
out a velocity vs. time graph for the object (bottom of page).

1.

Fill in the correct information for segment A, in the graph on the right.

Dnsplacement = Cg wilicn

Distance traveled = 2

Position at end of segment = ?? -~

Fill in the correct information for segment B.
Displacement=__— 3 -
At=_ 2 g g,a\

b ‘1./
vlverage = .7,“" ’"‘/
Distance traveled = :2 P

Position at end of segment = [

Distance
(meters)

N\ _of

v/

\I/

v

Fill in the correct information for the entire trip (segments A-D).

Displacement = 4 o

at=_ /0s
vlvcrngc_ 4 ?ng /&-’

Distance traveled = ?é A

Position at end of segment = wa

Z@’*r%* o+t)

Use the distance vs. time graph above to fill in the
velocity vs. time graph on the right.
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Time (seconds})




Fill in the correct information for segment A, in the
graph on the right.

Displacement = M— (6“- 'ZM)
At=
Vaverage = 7 ""'/9 /

Distance traveled =

Position at end of segment = é A

Fill in the correct information for segment D.

10

Displacement = Zen.
At= fé
7 m/g ( ﬁ?

Distance traveled =

Position at end of segment = a,ﬂ

— e

Fill in the correct information for the entire trip (segments A-D).

Displacement = 2 e &' z

ac= [0 s
Vaverage = ! 2 '.{s { .>
Distance traveled = / ‘/m— "/ r2+¢ *2\

Position at end of segment = [2 o

Use the distance vs. time graph above to fill in
the velocity vs. time graph on the right.

6
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{meters)
2 / >
0
0 2 4 6 8 10
Time (seconds)
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Velocity o
(m/s) 3 ] premn g T———
Y
-2
-4

Time (seconds)




Motion Matching Activity Questions:
On a motion sensor graph of position vs. time...
f
1. What does a positive (upward) slope tell you about the object’s motion?

P /Wp'//‘p/\_ /3 a-LA/A_.y 7//‘-0’ A— %Se—’ksé’/—‘

2. What does a negative slope indicate?
Sl Fronn Torva A %-' Senso,~
3. What does the steepness of a slope tell you about the object’s motion?

5/&&0’( (S/e.eyo er— = 7/5:5 /e/ﬁ

4. What does a constant (straight line) slope indicate?

5. What might a smoothly curving line indicate?
/744 &éraué‘am é,';%,-/oas ,'-//'ue_ or ~ ,gjﬁ.?lf'fé

6. Sketch a negative slope that is becoming less steep. What does this curve indicate about the motion

qfanobject? m 9’4/@&74 J< Mé,/,'::) ﬁwa.f?’(
2z, and A is slowsisy

ﬂ{)w ~ (ﬁ/&c&éfq{?[;:\})

7. Sketch a negative slope that is getting steeper What does this curve indicate about the motion of an
object? ( :
/2 ,,;9 7 s 7%e s Ensos
poccatoraia

8. Sketch a positive slope that is becoming less steep. What does this curve indicate about the motion

of an object? m;/’./) Ay, /e_ﬁ_&é,ﬁ@

9. Sketch a positive slope that is getting steeper What does this curve indicate about the motion of an
object?

Mp%'f) ALy, ﬁ&zc’,/e/«-/;‘,:)



Physics 200 Name:
Notes: Acceleration )

/ ; ,:} Y, ég: tells you how ;""«'"} something’s position changes during one second.
&4 =2 /c, /a.J 2~ tells you how 3 "*’:éomkethmg S velocxty changes during one second.

i

Is acceleration or scalar quantity? \_//(’/ 7° H 7 ra-ag £ 7/:,../

) ) 2
Acceleration can happen in two fundamentally different ways: ‘\ ‘ i e - /"b

\\ /ﬁ,‘fe, e oo ~,

1) C/usm._’ ‘}f-':-",c‘-'v’{ 7&/’ é‘a?,cf\ Ss jf’ja/—
2) &Ag: _,.7 }?re_c:/, - /

Negative acceleration is also called ﬁ/ CL,/ ot om O£ ,CV‘”— "

A e @5 , = LY
Common metric units for acceleration are @ St ™ \ Se~ €5,
z<Z

T =S € % /S ~

The Analogous Relationship between Velocity and Acceleration:

If Pam has a velocity of +6m/s, that means she travels 6m for every second that ticks by. Another way
to say this is that, for each passing second, Pam adds 6m to her position.

Analogously, if Pam’s acceleration is +6m/s/s, this means. .. w,% M /ﬂﬂ- 55/ -5

55,(:@4.9(/ é..../_g % alleA Ao Aer v /aa:f'//
Velocity adds ﬂ@ each second.

Acceleration adds E@Mmh second.

Velocity is the slope of a _g72 $ihomvs __‘7‘5_mﬁ,_ graph.

Velocity is the slope of a Mci{/ Vs '~ graph,

The acceleration formula:

Velocity describes a change in position over a time interval. Acceleration describes a change in velocity

over a time interval,
(’ "7/.;
. AV

Aaverage = CA = At‘ ‘&_S



Acceleration Formula Practice Problems:

o S Y Y Ty
1. Suppose your velocity i§ 2m/s: \,\On_e'_s’e/ggnd later, your velocity is'6m/s. What is your average (

acceleration over this time period? -

- _ O _ Yo _

%= = = (o)
A€ /s

When your watch reads 8:01:32 AM, your velocity i At 8:01:40 AM (on the same day),
your velocity i{\?gg/,_QWhat is your average acceleration over this time period?

.——;A\/_ ’9-\/5
T RE T Zo = ,0,;.4/(2,

Motion Graphs:

o

Each row of graphs below comprises a position vs. time graph, a velocity vs. time graph, and an
acceleration vs. time graph. Every graph in a row conveys the same motion. For each row, use the
one completed graph to fill in the incomplete graphs with reasonable curves. Some rows will have
a wider variety of possible answers. @ﬁime that all acceleration is constant. ™,

Neleitd o~ QM'

£

=+ ‘}

aa
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sing the information provided in one graph, complete the other 2.
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Notes: Kinematics Formulas

Deriving some formulas:
Starting with a velocity of 6m/s at a position of 30m, the car below accelerates at a rate of 2m/s? over a
time of 4 seconds. Fill in the following information about this even

M=Ys  a= 2.4T

/44 ;we/\w‘}-\/
TP V > b
o O O é“!"ﬁ 71 ;;“"T— 0 O

/1 < Z ,_;J
=20, w= /o X= 2 V= /Y

Av = 8,\_/5 V= /ﬂ«-—/s l‘ Ax = é/d-n—

\

In order to fill out the information above, we should have just derived (or realized) three new kinematics
formulas — a new formula for average velocity, and formulas for final velocity an acceleration. Show

their derivations here, i | terms. S
ons nere lngenem AV:o"M/ é@&““ﬁ@ w:’é\_/_‘_

4 AT

Ve/ow'é/ 73 % e ""47‘4
% n il A ! Veloeites (f# .;‘;}A/ -
AN/ -
;;-,J/ﬁ/fv«@ Vel tat

e we Mwl#‘*_/_\é =
Z?M) )V)LDL@}, Y= ) \/ Voﬂ
v

pseret9 e Vg
v=VY, + h’é

i S 2-
m-\\wg, wseo( everse 7 . . Ty
J—vje/%/,:gflwewf’,_/ |
5 Vrd¥ Ve Rehr
=V ttyal é_ff:\/-/'ﬁrf at 2z
et vt <
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Here are all of the basic kinematics formulas that you will need for this unit. The last one (v? =
vo™+2aAx), is a time-saving formula that is derived based the other basic formulas. We can derive it
later.

""..l/'f'Vo ':AY =
e V-Zt" V=V, +a.€

:A\/ - | 2 2: *
a=8% axsvit+gat® VT +2a8x

!
By convention, rightward and upward directions are __ £0$ / %/' Ve, , and

leftward and downward directions are e ,/6 a 7/ S e

Practice With Motion Equations:

The G.U.E.S.S. method...

o Steps: Identify what is Given. Identify the Unknown(s). Find an *Equation that incorporates
the givens and the unknown. **Substitute givens into the equation. Solve.

e *Sometimes you will need more than one equation

e **It will sometimes save time and confusion if you solve for the unknown algebraically before
substituting givens into the equation.

* On tricky problems, a lot of students find it helpful to list all of the possible variables first, and
then use the equations to fill in the blanks until you’ve found the unknown you’re looking for.

‘-‘
Example 1. A quadcopter ascends a distance‘w hile nndergoing constant acceleration. If its
starting velocity W@d this ascent las @_ what is thecacceleration.of the

quadcopter?




Example2. A nutis falling at a rate of -Sm/s¥% If gravity accelerates the nut at a rate of0|/ )
additional seconds, what will be the e )f the nut after those 6 seconds?

Z%

Vo s fo AL 7542 (6
V= 435/

Xe X
1. A grouse<akes off from th€ 8 yard Iihe of a football ﬁeld and travels to th€40 yard Iihe over a time
of 8 secopds. What is its gverage valocit V=

A«"f Y; P /Y- = 1% - w: ?274/0/
AT At 25 2. ~

V=V, Fal—Es

s Covpe

2. A car accelerates fm@o@over atime of @ha& is the car’s average

velocity during this time period? (Assume constant acceleration) /l/f Neceltsarys

s WE 9 Lok A 2

1/5{0"“,

3. !' " drop a rock off of a very high bridge. Starting ﬁo@'ﬁe rock accelerates at a r“*?t;-

You see a splash’8 secondSafter you release the rock. What is the rock’s elocny hen it
1ts the water? ‘1: e

v, +eT
y= w/; F Bl (-.8/42) -

4. Starting ﬁo@ car accelerates o 10 secondy What is the car’s dis[)l/ace@during
A - &_/ /

this time?
Vor O g \
AX=VE +Hal? A

-0t + Yo CED

A
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=
" cp. TN ‘,’

S. Aruxmcr svcloclty 4@ -Q
Aé {,-éo = 5} = 2 7™ /S

Vs

6. A child tra &‘at a rate of 15m/s7along a zip line. After slowing down at a constant rate over a

distance of 40mthe child comes to o
s ESBD— 1/ =0

a. What is the child’s average 4cceleration oﬁérsthxs 40m? 2
P2V B2 a s yi e
M> o TR / g au( @)

O VEAR, 2a (70 -
2225 0 K21 4D
b. Howmany@ s it take f i g
Ao.eé ; 7e or the child to travel ?s’tgme"B
V=V, +at bt =

T Z
pf/g_ /5’/-}—(2 3,,1/‘){ -

AX “

7. (*requires multiple formulas) A driveTSees a turtle in the road and hits the brakes. It takes him'3

seconds and a distance 0fZ0m30 slow to Wh
- . t
celeration,during this three second time period? /5 RO Dei e of
> . V)
Pz

G :

L=

e——
o Pty =33
3" s

/)/r VERYSERL Y o e s e e o ’:r"a
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Physics 200 Name: L. o/
1-D Kinematics: Free-fall (mostly), plus Areas Under Curves =

Free-fall: The state of being acted upon by only the force of gravity [Note that an upward-moving object may be
in free-fall.)

g: the absolute value of free-fall acceleration near the Earth’s surface.

Free-fall acceleration: -9.8m/s? or -g

The diagram below is intended to represent an object that is launched vertically upward in the absence of air
resistance (i.e. in free-fall). The diagram appears to show the ball moving sideways, but it isn"t moving sideways.
The apparent sideways motion is unavoidable if we’re going to separate upward-moving objects from the
downward-moving objects (as we need to do for clarity).

1. Fillin one of the blanks in the diagram with a made-up value. Based on that value, fill in the rest. Estimate by
using g=10m/s?

V=L29AAJ'
't=_§__5

Free-Fall Hint #1: Free-falling objects that go up and then come down have symmetric flights. The trip up is
the same as the trip down, only backward. It is often easier to analyze the fall rather than
the ascent, because we know the initial velocity of the fall is

Exomple 1: Aball is launched directly upward from ground level (in the absence of air resistance). It stays
in the air for - What height did it reach at its highest point?

;(& ,f—! Fq//f'd
50:2 o A= ot + )b at?
0 S ) >2
INEES ax = () +)y(-18-)(=

a= =98mt AX = = )22.5e

ol Frm, 33 e
A«cf}é"t s



15

Helpful Hint #2: Draw a diagram.

Helpful Hint #3:

F;.//

}, = Om >4 -
— ;}_A/ ‘;;0“/5 #—,.mg 20..(0:2-4)

TV D

Ak’:i AX:*CJ«ZA

Areas “Under” curves:

you know.

If you're having trouble getting started, list all of the usual variables and fill in the ones

Example 2: A ballis released, from rest, above a couch. After free-falling for 4 seconds, the ball contacts

the couch cushion and then travels another 0.2m downward before coming to a
acceleration while it was being stopped by the couch cushion?

Zespeel— V A 2y 20 bx

N

V= V. ot

75 0o (AT

stop. What is the ball's

O¥%=?
ol

L=
o= =B/t

vél
Fay
1. What kinematic information can we get by calculating the area "under" &,
the curve of a velocity vs. time graph? i
VaeD=8x or (s LA
al’e-ﬁw - "' [M'/S) 20 g
//Ag_eﬁcﬂ_%}‘b ," {min)
2, Whv did | put quotation marks around * under?" -40 - —
W/\e.n #c, Enrve 15 !ac, o 71'{:‘. > 0\""”5 {.Z;

We 'A“-@i f'lt‘— oreea ___,'_’& ’}’ G‘-mﬂ( max‘e_ g

ébl.f'#

3 Wha#&oes ﬁ?e areaﬁder the curve of an acceleration vs. time graph teII us? 4

arfes = a—(Aé)——Al/&‘ Change 1 ’
Veloelsy ,

4. Suppose we graph the acceleration of a sticky Nerf dart that is shot across

[

the room, sticking to the opposite wall. How can #2, above, help us draw that

graph more correctly? Tryit, and we will s
QZL f ..S?laf)g =
M endhs w0 %o /"35
( RULED

%@ L e

l!}iﬁi'\l'“']

S, ouvers!! AV=C
_5& She ool orea W"’{c’f

S cel’.. -

ﬁ,AA »ej“ ,j},,e__

ﬁﬂs‘ltw@ 5% ba{’/ﬂﬂ-/-
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NAME: \<‘QV\ W p(‘@b
\_} S——

I

Chapter 1 & 2 Test 2015-2016 2 3%5

MULTIPLE CHOICE: Select the one best answer for each question. Where g is used,

assume it equals 10 m/s? and neglect air resistance for falling/moving objects.

1.

Which of the following five position versus time graphs represents the motion of an
object moving with an increasingly negative velocity?

LN Ty

. The slope of a positjgmyersus time graph gives
A) position, e!ocify. C) acceleration. D) displacement,

Which one of the following situations is impossible?
A) A body having a positive velocity and a negative acceleration
B) A body having a negative velocity and a negative acceleration
C) A body having zero velocity and positive acceleration

A body having constant acceleration and positive velocity
(LE) A body having constant velocity and positive acceleration

A particle-moves on the x axis. When its velocity is positive and increasing:
ts acceleration must be positive

B) its acceleration must be negative
C) its acceleration must be zero

D) it must be slowing down

E) none of the above must be true

The slope of a velocity versus time graph.giyes
A) position, B) velocity. cceleration, D) displacement.

Consider the following five graphs (note the axes carefully!). Which of these

represent(s) motion at constant velocity? v i
A) IV only 1/ V
4 H "

B) IV and V only
C) I,II,and IITI only

T and IT only v a
and IV only .
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7. A particle moves along the x axis from xo to x. Of the following values of the initial
and final coordinates, which results in the displacement with the largest magnitude?

A) Xo=-4m,x=2m
xo=-4m,x=4m
C) Xo=4m,x=-2m
D) Xo=4m,x=6m
E) xo=-4m,x=-8m

Questions 8-11
A car starts from Burlington, goes 60 km in a straight line to Montpelier, immediately
turns around, and returns to Burlington. The time for this round trip is 2 hours.

8. What is the average speed for this-round trip?
A) 0 B) 30 km/hr @o km/hr D) 120 km/hr

9. What is the average velocity for this round trip?
@- B) 30 km/hr  C) 60km/hr D) 120 km/hr
10. What is the distance traveled on this round trip? -
A) O B) 30 km C) 60 km 120 km

11. What is the displacement for this round trip?
B) 30 km C) 60 km D) 120 km

12. A car starts from rest and goes down a slope with a constanf acceleration of 5 m/s?.
———————

After 6 seconds the car reaches The bof‘rom of t el ||I pee t the bottom of
the hillis: Y Vo O?f > Q?
A) Bbm/s B) 12 m/s ) 25 m/s E) 180 m/s

13. The graph represents the straight line motion of a car. How far does the car travel

between t = 5 secondsand t = 9 wlirs) A‘(“QO\ A\X

seconds? 12
A 4m

E) 60 m fasiive il =

B) 12 m 5 ‘“(X‘%
4m
36m 2 5 g '@

= Hm



14,

15,

16.

17.

18.

19.

18

A ball is tossed straight up. Upward is taken to be the positive direction. The
acceleration due to gravity of the ball is:
A) positive during both ascent and descent
ega'rive during both ascent and descent
negative during ascent and positive during descent

D) positive during ascent and negative during descent
E) none of the above

The area under a curve in gaqcceleration versus time graph gives
A) change in accelera'riohange in velocity.  C)displacement. D) position.

A freely-falling body has a constant acceleration of 10 m/s?. This means that:
‘vhe speed of the body increases by 10 m/s during each second
the body falls 10 m during each second
C) the body falls 10 m during the first second
D) the acceleration of the body increases by 10 m/s? during each second
E) the acceleration of the body decreases by 10 m/s? during each second

An object is thrown straight up from ground level with a speed of 50 m/s. What is its
upward speed above ground level 3.0 seconds later? Assume g z-10 m/s?.
A) Om/s B) 50 m/s C) 40 m/s D) 30m/s 20 m/s

A stone is dropped from a cliff. The graph (car‘efu note the axes) that best
represents its speed while it falls is: %106 o0

VV%MK

Suppose that an object travels from one point in space to another. Make a comparison
between the displacement and the distance traveled. (Note: The path is not
necessarily a direct straight-line path.)

A) The displacement is either greater than or equal to the distance traveled.

jf The displacement is always equal to the distance traveled.

he displacement is either less than or equal to the distance traveled.
The displacement can be either greater than, smaller than, or equal to the
distance traveled.

20. The area under a curve in a velocity versus time graph giyes
A) acceleration. B) velocity. C) position displacement..
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21. Suppose a ball is thrown straight up. Make a statement about the velocity and the
acceleration when the ball reaches the highest point.
A) Both its velocity and its acceleration are zero.
ts velocity is zero and its acceleration is not zero.
ts velocity is not zero and its acceleration is zero.
D) Neither its velocity nor its acceleration is zero.



20, continued

Choole 1-2 T@L
20\5 -0l b

@q@m@@oom( BW

v = A2 a(20g410%ke
AT T LR7A (2 S>

}?e%@’*km
Q) y- A>< 5 At - zg( 18 m
6?@3»300*1@\

@ O\ = A\/ \(Vo )éO“QH@m &
PN ¥ » 3.0s i 8\06%

V<X, = \/QT *%0\\3} = é’)\l{ 6§LX3 .@OS) *é‘é&(ﬁgy\?\m;




\{ = \(@ ¥ 0:1_‘ E>+‘: \("V‘O \E ( é\g_a/\{
\}": “&6\(}% - éOthl | 59
— 2 |\HO
0,80, -xmwp] 3 130 A
Time OIOV\\n L‘f ‘?o
S hWQ
0 4 L O
2 = \
U RETVCED

5 NG - [ohaman
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Physics 200 Name: ,‘(_ & ‘.,.’
Chapter 2: Extended Kinematics Problems Practice ) T
ok A car accelerates from rest at a constant rate of -4m/s’. After accelerating at this rate for a distance

of 500m, the car turns off its engine and begins to coast. The car coasts for 22 seconds before
ﬁ | ‘/ finall coming to rest, and during th:v,zz seconds it slows down at a constant rate.

flox
z 470s

— o=~
O =%
e . . }(:c,}#u
o X=SPm TO
l?m’ o~ DA1t-22s _>f o A= ? [/;‘”0"‘*-&
a. What was the car's maximum speed during this e\rent'?

Vz =0 + 2‘/:9”\—/59(5'/):—‘:) ,—f: "'?,/ f,& A:Z“T-'-* }_‘-;a_;;;;:f; = 53-2"::

b. What was the car’; velouty when it reached its maximum speed?

() At what time did the car reach that velocity?
]/:': I{; + ot
;
—432~fs = O F —ImABYE
,/fiz — /S-o g..s
What was the.car’s-acceleration ¢ ;urmg its coasting period?

d.
/ = >\
Y4 + o 3.2/ & (225)
T2 md + o (225 “ CC=2.87fe
e. How far did the car travel after its motor turned off?

A=Vt -_{L/;é&fz-—: _{_;_zﬂ/s(gg; -,!—j,f’ 2:?7.*%__94

BXZ=/29 0 £ 69 5. =

f. What was the car’s total displacement?

~SDDm + =695 N
ALee /. p./e,ce(
fg/.c-/( /ﬂer-‘?/(,
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2. A plastic action figure is launched vertically upward "
from a point 10m above the ground [At t = Os, the 4
height of the action figure is 10m above the &
ground]. From t=0s to t=6s, the action figure
travels solely under the influence of gravity. Air 7l 4
resistance can be ignored for this time period. At ¥ e
t=6s, the action figure’s height is 40m. Between 5”"‘;17 b,
t=6s and t=7s, a parachute pops out of the figure
and deploys, causing the figure’s speed to decrease
at a constant rate for that 6s to 7s time period. At
t=7s, the figure’s speed is 3m/s. From t=7seconds
onward, the action figure floats the rest of the way
to the Earth (height = Om) at a constant speed of

R
3m/s. e
0,

a. What was the action fi gure's initial velocity?

3%»*&’.(&) +/7,(93%X45> @
30~ = %(é‘) "'/76:?,71,
b. What was the action figure’s velocity at t=6s?
Vol bat = Stk +riAD

o What was the action figure’s average acceleration between t=6s and t=7s?

V' -1"0.f /_7 2l
“Zmfo = ~ S/ -#a(/s) e

d. What was the action figure’s displacement betwgen t=6s and t=7s? l/ 5 - _i/j_ézi(
Ore 5 pAx= '/of*’y“ﬁl ke =
WI‘- ==/4,8" ¥ Lre v W)
Y A=)+ (2.5 YOI é’-?—ls,b’y: V=375 s
X

&%= U S + 10,755 -]3.75.

e. What was the action figure's elevation at t-7s? Is =3 =
B25D
e

f. How long did the entire trip last?

Io\'\'/ 26 2;—»\— /‘a—t/&/—r/(@ 3"‘2
V=2F L pt= EE = = Ate G755

4 A€
: . hhs e= 70825 BR)
A Gk 155 What was the action flgure s avelje speed?

: u&:z/ —176 w/ b e net
M"é”’/}’e _ 1.
74 Zpzo =7 (O M/J\,év_;,./j +2( ?&/JD(AX) {15;3 /57 4%
g *7‘ T Ax= b0 W R\ Y
ot PP b -9 Tohl J_J..\ce = 60~w,0, 70,_,/,\,,,‘,7)3%, 5 h,,,

—



23

Name, K&, / Essex High School
Ch. 2 Kinematics in 1-D Assessment Physics 200

Formulas and info:

Part I: 1

Ax = vt + -2-at2
1) Describe an example of motion that has negative velocity and
positive acceleration. / v=vyt+at

.S&meo“'@ 15 Wa/f,-g

72 #@’ /a.-f4 a/‘/{ ,_,"/-/_3,_,,,:)

4 e 1mile = 5280 feet
i ’ ¥4 20,305~

v? = v} + 2abx

2) Describe an example of motion that has zero velocity and negative acceleration.
nﬂaofg 9-«J42 s ¢ & A%)CLC;/ ’s
styl- Legrania . I

rove [ 6’— Fusor .
( M*V‘foﬁ | i
3) Three parts: i i

é i. Which velocity graph shows the
same motion depicted in position
graph C?

03134347038

iR
Weloary ()
v BGENY

Hadbaae

@l

Veltty (m'y

i 2EE Fisasuzresss
D ii. Which position graph shows (] :n e L_F_]' S s
the same motion depicted in : -

i
b 3
H
=
|
ol

T 553

acceleration graph I? i‘: T :_ T - : EREETY F ‘: T
PEETEEESAEEE 24 s o I RRRS LT
ZZ iii. Which position graph shows § o Fs § 4t
A 5 i 22— 4 ; 2 +————
the same motion depicted in fons g o, SRR 0o —0m—
Vel()cit ra hH? . 0312343678310 EETEE 012345678510
Y e |G e B
4) (2pts) Suppose an object is launched
directly upward in the absence of air resistance b | i :
(i.e. freefall). The object goes up and comes 0 s '.
down, remaining in the air for 4 seconds. On the &0 8 ? i
graphs to the right, sketch the object’s velocity, 20 6 '
and acceleration at each pomt in the 4 second trip. 2 | & 4 l
e S T [ .1
K] £ - T~ é E 3 T 3
2 | 4 s
-30 -6
-40 2 i
-50 -10 . :
- T o i i
Time (seconds) Time (seconds)
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i) 2
‘)r wh@hS o, "J'Ih' - Al

P i = i t) + Givens with s
Eroblems [4 polnts Each = Useful Equation {1/2 pom ; (1/2 point) + Correct units for answer (1/2

Work - Givens substituted into equations and solved
point) + Correct answer (1 point).]

; ver a
1. Video analysis of a car shows that it is able to start from rest and reach a speed of 6.00 m/so
dijtance of 6m meters. Calculate the car’'s@ccelerati

V, = O~fs V=409~ A=b
vz ve S+ 2D

(éﬂ/gz-;o +Za/{~9

A= S/

6 0»\/5
2. Acaristraveling a;t a constant rate of 26#/s. At some point, the car begins to undergo constant
acceleration of 4m/s”. If this acceleration lasts for 5 seconds, whar\dlstance Boes the car travel during

the accelerzzion per})d? Vi —
Vo =60~ 1S ‘ ,
a=of? Ax= Vel +J4al?

Al=8s > Ax= 50‘%(&) +Z" (%'A%‘;Z

e aaa——

i = ZOD . T S5O

TR

.
ynﬁa\nd units (1/2 point) + \

> |
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3. A pumpkin is dropped from the top of a tall building. If the pumpkin freefalls to ground level in a
time of 2.5 seconds, what is its sﬁ%when it hits the ground?
Ve e i $

V= 1/,')'6.?5'

/= Onff + (95542 (2.55)
r

//4‘ Inthe absence of alrresistance (freofall),

returns direct] _ asoccer ball ls kickod stralght up In the alr and then
+Aectly to arth, 1t 1o soccer ball makes the round trip In 10 seconds, how high does the ball
go? f‘ ’() i VO
- . > ¢ v ‘:' \
vek) = 495 T84 /
- 3 - 2 4 oy B ",, 4 :
6\ - - (,\‘ l"‘/‘ " 1\.1 70'\ J ot er a7 /
> i /,{_, V) 7/
lor 4 S > woA L;
[‘f- r.lf 4 Ilp /

P N e
3 Z g 5 A
LFF )25l 72 s TN
8. Starting fram ract a hnae ansnliacatne e a 200000 CZdS 0t T it _ e Gl

Froble LT
#S 2

. Y "
/J A /Z‘fslé»
(03¢ s,
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N\
Name: N
Physics 200 Extended Problem (12pts) .
Chapter 2 Test (2 points each)
: ; right, but not up, down,

A student is stuck on a one-dimensional line in the X dimension. She can mov'e‘ Ieft a?:t agra;e ot 3 Emie vl

back, or forth. Starting from rest at point A (x=0m, t=0s), she acce!erates to the rl'g tion instantly changes to

she reaches point B a time of 6 seconds. At t=6s, (as she passes pfnnt B) her accezera it s vescHes
<1.5m/s’ {leftward acceleration). She continues traveling with this same -1.5m/s .acce er e AIVEEHEE R
point D 30 seconds later (at t=36s). After leaving point B, and before reaching point D, she reverse

point C. At point D she crashes into an immovable wall and stops.

Acceleration between points Aand B = ***Not drawn to scale!** Continued Path_
2.5m/s* T ———r

Accelor.a:ion between points B and D = = PY —9

-1.5m/s D (end) A (start) B

x=? x=0m C—{—a—__—?;:z? X=795
(a) What is her velocity at point B? t=36s t=0s ; t=6s

\/‘,:‘)/)(5 V:I;,g
Velodoa&

=Dt + 7'5“/5(45> :@

(b) What is the distance of point B from the origin (Point A, x=0m)?

(c) How muchti dpses as she travels from point B to point C?
V= /Sw/b

=V, ta €
e Vv +a

o OMA:: /5»\«/; o -—/:5—»/&5{
a= =/t A = Jos

(d) What is the distance between points B and C?

Ag:/ojﬁéx-_-\/o t+ 4 at?

”’L(/,q‘f = 15+4(12s) + 1. ',:5“’4‘% ('4’52

(e) What is her velocity when she reaches point D (before she stops, while she is still moving)?

‘COASMJG’/ C +o P ‘> 1/020»/; a.-‘-'—-/.S—\,/s" Z‘b:/é.s‘ f:‘?éj At=20s

Ve Y, tal => vizo +(./,5,\/55(zo>
< \/; —30,«5

(f) What is her total d_isM not distance tra\}éﬁlféd!) for the entire trip — through all points A-D?
)(0:42-\_ Xz Consider B"?P:)(a: 4G wr ‘4315}% to=és

A)(A-bﬁz 45 7:,7%[&(‘“7 f:3($ AL =B a= .../,5,,42
AXy5p>-225 o / Ax =V, T+ att
= )80

Ay,,_«, = 95-2250 = /5’«%(399-}7'/;(‘).5’\%%5 2 J/\—Z‘Zf)




